EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / PATNA / BArch-EIGHT / (SP/18) 2017-2018

By the order of Examination committee, the following is the result of BArch - EIGHT Semester held in the month of APRIL-2018

SESSION: 2017-2018 CLASS BArch BRANCH : ARCHITECTURE SEMESTER / TRIMESTER EIGHT MONTH OF EXAM APRIL-2018 AR8401(3) AR8305(3) MUP3109(3) AR8302(8) AR8304(2) AR2405(3) CH2203(3) AR4407(3) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS HU4001(3) AR6309(3) AR4305(3) AR2407(3) POINTS CREDITS PT. GR GR. GR. GR GR. PT. GR. PT PT. PT. PT. GR. PT. GR. PT. 18.0 A+ 27.0 D B+ 56.0 В 12.0 Α 16.0 _ BARCH/15001/14 CHINMAY ROY 129.0 19.0 6.79 72.0 Α 24.0 Α 24.0 C 15.0 A+A+18.0 BARCH/15002/14 MIDHAT FATIMA 153.0 19.0 8.05 27.0 27.0 A+ A+ В 18.0 Α 64.0 Ex 20.0 BARCH/15003/14 CHANDRAMAULI 156.0 19.0 8.21 21.0 27.0 64.0 B+ A+ В 18.0 Α B+ 14.0 BARCH/15004/14 MAHROSH FATMA 144.0 19.0 7.58 _ 18.0 B+ F С 40.0 С С 15.0 В 21.0 0.0 10.0 BARCH/15005/14 DHIRAJ KUMAR 104.0 22.0 4.73 C 15.0 B+21.0 D 12.0 В 48.0 В 12.0 BARCH/15006/14 SUMIT KUMAR JHA 108.0 19.0 5.68 21.0 B+C B+ 56.0 B+ 21.0 15.0 Α 16.0 BARCH/15008/14 DIPTANSHU SINHA 129.0 19.0 6.79 18.0 B+ 21.0 С 15.0 B+ 56.0 В Α 16.0 BARCH/15010/14 ROHAN ROY 126.0 19.0 6.63 21.0 B+ B+ 21.0 D 12.0 С 40.0 В 12.0 BARCH/15011/14 TEJASVI AASHISH 106.0 19.0 5.58 24.0 Ex 30.0 В 18.0 64.0 A+ 18.0 Α Α BARCH/15012/14 M MOUNIKA 154.0 19.0 8.11 C 15.0 В 18.0 D 12.0 C 40.0 B+ 14.0 F 0.0 BARCH/15014/14 SHUBHAM GOENKA 99.0 22.0 4.50 С 12.0 15.0 B+21.0 D 12.0 В 48.0 10.0 D C BARCH/15016/14 HARSHIT RAJ PRABHAKAR 133.0 25.0 5.32 15.0

AR8401(3) : PRINCIPLES OF HUMAN SETTLEMENTS & URBAN DESIGN AR4305(3) : THEORY OF STRUCTURE AR8305(3) HU4001(3) : ADVANCED LANDSCAPING : FOREIGN LANGUAGE (FRENCH) : CITY & METROPOLITAN PLANNING AR6309(3) : STEEL STRUCTURES MUP3109(3) : STATICS & STRENGTH OF MATERIALS AR8302(8) : ARCHITECTURAL DESIGN - VIII AR2407(3)

AR8304(2) : INTRODUCTION TO THESIS PROJECT & RESEARCH AR2405(3) : METHODOLOGY CH2203(3) : HISTORY OF ARCHITECTURE(WESTERN) -

AR4407(3) : ENVIRONMENTAL SCIENCE

SURVEYING (THEORY)

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / PATNA / BArch-EIGHT / (SP/18) / 2017-2018

By the order of Examination committee, the following is the result of BArch - EIGHT Semester held in the month of APRIL-2018

SESSION : 20	017-2018 CLASS : BArch			BRANG	CH :	ARCHIT	TECTUR	Е				SE	MESTE	ER / TRI	MESTE		MONTH	APRIL-2018				
ROLL NO NAME		U	AR8401(3) AR4305(3)		AR8305(3) HU4001(3)			3109(3) 309(3)		302(8) 407(3)	AR8	304(2)	AR2	405(3)	CH22	03(3)	AR44	07(3)	TOTAL CREDIT	TOTAL	SGPA	REMARK
			GR.	PT.	GR. PT.		GR. PT.		GR. PT.		GR. PT.		GR. PT.		GR.	PT.	GR.	PT.	POINTS	CREDITS		
BARCH/15017/14	DEEPANKER MUKHERJI	U	В	18.0	B+	21.0	D	12.0	В	48.0	A+	18.0	-	-	-	-	-	-	117.0	19.0	6.16	
3ARCH/1301//14	DEEPANKER MUKHERJI	L	-	-	-	-	-	-	- -	-	-		-	-	-	-	-	-	117.0	19.0	0.10	-
BARCH/15018/14	STUTI	U	В	18.0	A	24.0	D	12.0	B+	56.0	A	16.0	-	-	-	-	-	-	126.0	19.0	6.63	
3ARCH/13018/14	51011	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	120.0	19.0	0.03	_
BARCH/15019/14	0/14 SHASHANK KUMAR SINGH	U	С	15.0	В	18.0	D	12.0	В	48.0	A	16.0	-	-	-	-	-	-	109.0	19.0	5.74	-
JAKCII/13017/14	SHASHAIVE KUMAK SHVGH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	109.0	17.0		
BARCH/15020/14	15020/14 ALOK KUMAR KARAN	U	B+	21.0	A	24.0	С	15.0	A+	72.0	A	16.0	-	-	-	-	-	-	148.0	19.0	7.79	_
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	110.0	<u> </u>		
BARCH/15021/14	ARCH/15021/14 KUMAR VIPUL	U	С	15.0	A	24.0	F	0.0	С	40.0	A	16.0	С	15.0	-	-	-		110.0	22.0	5.00	_
		L	-	-	-	-	-	-	-		-		-	-				-				
BARCH/15022/14	H/15022/14 NAMIT SHARAN	U	B+	21.0	B+	21.0	D	12.0	В	48.0	B+	14.0	-	-	-	-			116.0	19.0	6.11	_
		L	-	-	-	-	-	-	-		-	-	-	-	-	-		-		_		<u> </u>
BARCH/15024/14	ISHITA BHARTIYA	U	A	24.0	A	24.0	С	15.0	B+	56.0	A	16.0	-	-	-	-	-	-	135.0	19.0	7.11	-
		L		-	-	-	-	-	-	-	-		-	-	-	-						
BARCH/15025/14	TEJASH SINGH	U	С	15.0	В	18.0	С	15.0	B+	56.0	B+	14.0	-	-	-	-	-	-	130.0	22.0	5.91	_
	1201011011011	L	D	12.0	-	-	-	-	-	-	-		-	-	-	-	-	-	150.0		0.51	
BARCH/15026/14	KUMAR GAURAV	U	С	15.0	B+	21.0	D	12.0	В	48.0	A	16.0	F	0.0	-	-			112.0	22.0	5.09	_
		L	-	-	-		-	-	-	-	-		-	-								
BARCH/15027/14	RITESH RANJAN	U	B+	21.0	A+	27.0	В	18.0	B+	56.0	A+	18.0	-	-	-	-			140.0	19.0	7.37	_
		L		-	-	-	-	-	-		-		-	-								
BARCH/15029/14	RISHABH RAVINDRA MALANI	U	В	18.0	A	24.0	С	15.0	B+	56.0	Ex	20.0	-	-	-	-		<u> </u>	133.0	19.0	7.00	_
	1	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		<u> </u>	155.0	1	-	<u> </u>
D A D CH / 1 5020 / 1 4	VARTIKA SRIVASTAVA	U L	B+	21.0	Α	24.0	С	15.0	Α	64.0	A+	18.0	-	-	-	-	-		142.0	19.0	7.47	

AR8401(3) : PRINCIPLES OF HUMAN SETTLEMENTS & URBAN DESIGN AR4305(3) : THEORY OF STRUCTURE HU4001(3) AR8305(3) : ADVANCED LANDSCAPING : FOREIGN LANGUAGE (FRENCH) : CITY & METROPOLITAN PLANNING MUP3109(3) AR6309(3) : STEEL STRUCTURES AR2407(3) STATICS & STRENGTH OF MATERIALS AR8302(8) : ARCHITECTURAL DESIGN - VIII

AR8304(2) : INTRODUCTION TO THESIS PROJECT & RESEARCH AR2405(3) : METHODOLOGY CH2203(3)

: HISTORY OF ARCHITECTURE(WESTERN) : ENVIRONMENTAL SCIENCE AR4407(3)

SURVEYING (THEORY)

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / PATNA / BArch-EIGHT / (SP/18) / 2017-2018

By the order of Examination committee, the following is the result of BArch - EIGHT Semester held in the month of APRIL-2018

Date: JULY-2018

Controller of Examinations

ROLL NO		v v												SEME			MONTH OF EXAM : APRIL-2018						
	NAME	L	AR8401(3) AR4305(3)		AR8305(3) HU4001(3)				AR83		AR8	304(2)	AR2	405(3)	CH22	203(3)	AR44	07(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	POINTS	CKEDIIS			
BARCH/15031/14	RAINISH ANAND	U	С	15.0	С	15.0	D	12.0	В	48.0	В	12.0	С	15.0	-	-	-	-	117.0	22.0	5.32	-	
3711(611) 13031/11	TO DEVISE FROM THE PROPERTY OF	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	117.0		3.32		
BARCH/15032/14	ANINDYA DUTTA	U	B+	21.0	A+	27.0	С	15.0	B+	56.0	A	16.0	-	-	-	<u> - </u>	-	-	135.0	19.0	7.11	_	
		L	-	-	-	-	-	-	-	-	-	-	-	-		-	<u> </u>	-					
BARCH/15033/14	PRAKRITI SAHU	I.	C	15.0	B+	21.0	D	12.0	C	40.0	B+	14.0	-	- -	-	<u> </u>	-	-	102.0	19.0	5.37	-	
		U	D	12.0	С	15.0	F	0.0	F	0.0	D	8.0	-	-	-	<u> </u>	-	-					
BARCH/15035/14	NASIM AHMAD	L	<u> </u>	-	-	-	-	-	-	-	-	-	-	 -	-	-	-	-	35.0	19.0	1.84	-	
BARCH/15036/14	CH/15036/14 SAUMYA	U	В	18.0	B+	21.0	С	15.0	B+	56.0	Ex	20.0	-	<u> </u>	-	-	-	-	130.0	19.0	6.84	_	
3ARCII/13030/14	SAUWIA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	130.0	17.0	0.64	-	
BARCH/15038/14	MAYURI PATEL	U	С	15.0	B+	0.0	D	12.0	B+	56.0	A	16.0	-	-	-	-	-	-	120.0	22.0	5.45	-	
		L	-	15.0	Г		-	12.0	-	-	- D:	-	-	-	_	<u> </u>	_	<u> </u>					
BARCH/15039/14	SWARNIKA RASHI	U	С	15.0	A	24.0	D	0.0	B+	56.0	B+	14.0	-	-	_	-		-	121.0	22.0	5.50	-	
		II	В	18.0	- B+	21.0	F D	12.0	- A	64.0	- B+	14.0		<u> </u>	_	<u> </u>	F	0.0					
BARCH/15040/14	SONAM	L	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	-	- -	-	-	129.0	22.0	5.86	-	
		U	С	15.0	B+	21.0	D	12.0	A	64.0	Ex	20.0	-	-	-	-	-	-					
BARCH/15041/14	SNEHA KUMARI	L	<u> </u>	-	-	-	-	-	-	-	-	-	-	 -	-	-	-	-	132.0	19.0	6.95	-	
BARCH/15043/14	DIVVA DARSHI	U	B+	21.0	A+	27.0	В	18.0	В	48.0	В	12.0	-	<u> </u>	-	-	-	-	126.0	19.0	6.63		
JAKC11/13043/14	DIVIADARSIII	L	-	-	-	-	-	-	-	-	-	-	-	_	-	-	-	-	120.0	19.0	0.03	-	
BARCH/15044/14	MOHIT SINHA	U	F	0.0	F	0.0	F*	0.0	F*	0.0	F	0.0	-		-	-	-	-	0.0	19.0	0	F* IN : MUP3109, AR8302	
		L	<u> </u>	-			-	-	-	-			-	<u> </u>		<u> - </u>	-	<u> </u>					
BARCH/15045/14	MD. SIBGHATULLAH	U	F	0.0	F*	0.0	F	0.0	F*	0.0	D	8.0	-	-	-	-	-	-	8.0	19.0	0.42	F* IN : AR8305, AR8302	

AR8401(3) : PRINCIPLES OF HUMAN SETTLEMENTS & URBAN DESIGN AR4305(3) : THEORY OF STRUCTURE AR8305(3) : ADVANCED LANDSCAPING HU4001(3) : FOREIGN LANGUAGE (FRENCH) MUP3109(3) : CITY & METROPOLITAN PLANNING AR6309(3) : STEEL STRUCTURES

: STATICS & STRENGTH OF MATERIALS AR8302(8) : ARCHITECTURAL DESIGN - VIII AR2407(3)

AR8304(2) : INTRODUCTION TO THESIS PROJECT & RESEARCH AR2405(3) : METHODOLOGY

CH2203(3) : HISTORY OF ARCHITECTURE(WESTERN) AR4407(3)

: ENVIRONMENTAL SCIENCE SURVEYING (THEORY)

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: JULY-2018

Controller of Examinations

Reference: EXAM / JPP / BITIC / PATNA / BArch-EIGHT / (SP/18) 2017-2018

By the order of Examination committee, the following is the result of BArch - EIGHT Semester held in the month of APRIL-2018

SESSION : 2	017-2018 CLASS : BArch			BRAN	CH :	ARCHI	ΓECTUR	Е				SE	MESTI	ER / TRI	MESTE	R : 1	EIGHT		MONTH	OF EXAM	: APRIL	-2018
ROLL NO	NAME	U L	U AR8401(3) L AR4305(3)		AR8305(3) HU4001(3)				AR8302(8) AR2407(3)		AR8304(2)		AR2405(3)		CH2203(3)		AR4407(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BARCH/15046/14 AMMAR ALI	AMMAR ALI	U	С	15.0	С	15.0	F	0.0	D	32.0	B+	14.0	D	12.0	-	-	-	-	88.0	22.0	4.00	
BARCH/13040/14	AWWAK ALI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	22.0	4.00	-
DADCH/15047/14	ZUDDA CAIDA	U	B+	21.0	A+	27.0	С	15.0	В	48.0	B+	14.0	-	-	-	-	-	-	125.0	10.0	(50	
BARCH/15047/14	ZUBDA SAJDA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	125.0	19.0	6.58	-
D. D. GYY // 20 10 // /	CHUDHAM CDHIA	U	В	18.0	A+	27.0	D	12.0	В	48.0	A	16.0	-	-	-	-	-	-	121.0	10.0	(27	
BARCH/15048/14	ARCH/15048/14 SHUBHAM SINHA			_	_		_	_	i _	_		_	_	_					121.0	19.0	6.37	-

: PRINCIPLES OF HUMAN SETTLEMENTS & URBAN DESIGN AR8401(3) AR4305(3) : THEORY OF STRUCTURE HU4001(3) FOREIGN LANGUAGE (FRENCH) AR8305(3) : ADVANCED LANDSCAPING MUP3109(3) : CITY & METROPOLITAN PLANNING AR6309(3) STEEL STRUCTURES AR8302(8) : ARCHITECTURAL DESIGN - VIII AR2407(3) STATICS & STRENGTH OF MATERIALS

SURVEYING (THEORY)

VEYING (THEORY)

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.